Algebra 1
Unit 2A Test Review WS
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1. Find the domain and range of each relation.

a. {(1,5),(-1,3),(2,7), (8, 10), (-2, 3)} c. x|-3|-1]0]1
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2. Using the examples in #1, determine if each represents a linear function. Explain your reasoning.
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3. Iff(x) =3x —5and g(x) = 3 — 5x, evaluate each of the following.

a. g(=3) b. f(4) c. 9(2)-f(-1)
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4. Alan pays Comcast $5 per movie rental plus an $80 fee.
a. Write a function, in function notation, to represent Alan’s total bill.

FOY =By 50
b. How much is Alan’s bill if he rents 6 movies?

FO = DY+ %D
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c. If Alan’s bill was $130 how TTT movies did he rent?

130 = HY +%0
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4. Find the x- and y-intercepts of the following equations (write as on ordered pair).
a. —x+2y=12 b.6y + 3x = —18
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5. Graph each function.

a. f(x)= —%x—4
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b. f(x)=4x-1
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6. Write the equation of the line, in slope intercept form, for each graph.
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7. Write the equation of the line, in slope intercept form, for each situation.
a. Passing thru{-2,5)andm =3

=3¢CV+o =
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b. Passing thru (6,4)and m = §

H::%K®Y+k) /fw__i .w
G=qvo (9T FKHO | or
O=b K _ 2

c. Passingthru(1, 2)and (3, -2)
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d. Iff(4) = —2and f(8) = 4
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e. Ifg(2)=3andg(6)=5 < )
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f. Passing thru (-1, 3) and paralleitoy = 2x 4+ 2

Mn=2
3=2C04b - ~
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5= b
g. Passing thru (18, 2) and EEr_alIel to3y—x=-12
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h. Passing thru (7, 10) and perpendicular to y = %x ~9
M=-2
0= 24— |
4= B
i.  Passing thru (-3, 3) and perpendicular to 2y = 8x — 6
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